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Let a Dumb Little Sicux Boy from the plains of South Dakota close
with this concept.

Every student of CALCULUS. TRIGONOMETRY, and ELECTRICAL ENCINEERING
knows about this mathematical Concept, yet not one has the nerve ta bring
it forth. MNot even EINSTEIN weuld present it in the method that questions
the misfit to the spead of LIGHT.

In Institutions of Higher Learning, it is avoided by a2 debate-

ARE DIFFERENT COLOR WAVES LIGHT?

This is maybe Lhe cne dshate that could he finalized and answered
by another guestion, which would make a debate to this guestion kind of
stuplid.

IF ONE WAS ABLE TO FIND AN OBJECT IN ABSOLUTE SPACE, WOULD IT EE
INVISIBLE TO THE HUMAN EYE BECAUSE IT HAD NO COLOR?

IF IT WAS INWISIBLE DUE TO THE LACK OF COLOR, HOW WAS IT FOUND OR
LOCATED IN ABSOLUTE SPACE?Y

DOESHN'T THE WHITE MAN FIRST LOCATE SOME TYPE OF WAVE 50 VELOCITY
CAN BE CALCULATED?T

T stated there would %2 only cne(!)} guéstion.and I've given three()
and by using tribal concepts, these guestions could continue on into
infinity. "

However, it canglfinalized by one conclusion.

The White Man and his sciences has components that isolates a Wave
alone or makes a substance from which he calculates a finding.

This finding becomes part of his Pure science which he puts together
by an assumption he calls & THEDRY, because he has no components: that
can measure orf calculate a Pure Science..

On the subject to the theory on the SPEED OF LIGHT, he forgot to
mention a small problem.

The human eye which begins to zee colers around g¢g.g20 miles per
second and can see the complete spectrum around. 119,040 miles per second.

You would be surprise at the speed of the color WHITE.

This Scientist was able to locate the speed of ULTRAVIOLET by the
use of photocells, vhich he will admit is not considered LIGHT.

Wow these photocells have isolated ULTRAVIOLET up to the speed of
"169,.260miles per second which the human eye cannct see but it stops here.

From 159,260 to 186,000 miles per second., which the human eye cannot
see and oo component.is in existence’thad. could .calénlate this theory
existence, lays a small problem which could give the reason for the
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